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Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREM 1,959 1,856 0 0 94.7 94.7
el 1,959 1,856 0 0 94.7 94.7
b A RER 88 86 0 0 97.7 97.7
R HET 47 52 0 0 110.6 110.6
4 R ET 9 7 0 0 77.8 77.8
ZEHEF 15 18 0 0 120.0 120.0
A% 4 T 17 9 0 0 52.9 52.9
shRTER R 1,869 1,798 0 0 96.2 96.2
BhEITTH 1,215 1,195 0 0 98.4 98.4
2R 196 180 0 0 91.8 91.8
ETH 205 183 0 0 89.3 89.3
75 B EH 9 7 0 0 77.8 77.8
e iy ET 62 55 0 0 88.7 88.7
KESHT 43 46 0 0 107.0 107.0
HELEF 60 61 0 0 101.7 101.7
R HNET 79 71 0 0 89.9 89.9
I\FEH&REM 1,714 1,735 0 0 101.2 101.2
J\F T 1,714 1,735 0 0 101.2 101.2
=R A RER 554 543 0 0 98.0 98.0
BULHEHT 228 221 0 0 96.9 96.9
= FH 42 47 0 0 111.9 111.9
R FHT 80 83 0 0 103.8 103.8
HFHT 31 25 0 0 80.6 80.6
FE BRET 90 85 0 0 94.4 94.4
B _E BT 72 73 0 0 101.4 101.4
AT 11 9 0 0 81.8 81.8
AT )IRREFR 738 694 0 0 94.0 94.0
HFRIRET 328 315 0 0 96.0 96.0
DhSH 199 188 0 0 94.5 94.5
84 iR ET 43 38 0 0 88.4 88.4
R T 32 33 0 0 103.1 103.1
5 FH T 79 62 0 0 78.5 78.5
th ;R ET 57 58 0 0 101.8 101.8
E+=FEF 1,288 1,280 0 0 99.4 99.4
+FBAH 423 461 0 0 109.0 109.0
=R 355 360 0 0 101.4 101.4
87100 th BT 73 80 0 0 109.6 109.6
asy=1:]] 82 89 0 0 108.5 108.5
JNFHT 102 85 0 0 83.3 83.3
1 JECHT 24 27 0 0 112.5 112.5
5di) 126 92 0 0 73.0 73.0
7Ny AT 103 86 0 0 835 83.5
ODOBREAT 474 454 0 0 95.8 95.8
G Y] 388 374 0 0 96.4 96.4
yNEilil) 28 27 0 0 96.4 96.4
BB 48 42 0 0 87.5 87.5
R EHM 5 5 0 0 100.0 100.0
{EH4 5 6 0 0 120.0 120.0
&t 8,684 8,446 0 0 97.3 97.3
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Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREM 2,087 1,985 0 0 95.1 95.1
el 2,087 1,985 0 0 95.1 95.1
b A RER 118 115 0 0 97.5 97.5
R HET 70 68 0 0 97.1 97.1
4 R ET 7 6 0 0 85.7 85.7
ZEHEF 18 18 0 0 100.0 100.0
5%+ BT 23 23 0 0 100.0 100.0
shRTER R 2,069 2,020 0 0 97.6 97.6
shETTH 1,229 1,198 0 0 97.5 97.5
2R 240 234 0 0 97.5 97.5
ETH 249 245 0 0 98.4 98.4
75 B EH 11 11 0 0 100.0 100.0
g W3R FET 132 128 0 0 97.0 97.0
KESHT 49 48 0 0 98.0 98.0
HEEEH 66 63 0 0 95.5 95.5
R HNET 93 93 0 0 100.0 100.0
I\FEH&REM 1,897 1,852 0 0 97.6 97.6
J\PTh 1,897 1,852 0 0 97.6 97.6
=R A RER 634 613 0 0 96.7 96.7
BULHEHT 232 223 0 0 96.1 96.1
= FH 69 67 0 0 97.1 97.1
R FHT 100 100 0 0 100.0 100.0
HFHT 32 32 0 0 100.0 100.0
FE BRET 115 111 0 0 96.5 96.5
B _E BT 73 67 0 0 91.8 91.8
AT 13 13 0 0 100.0 100.0
AT )IRREFR 772 757 0 0 98.1 98.1
HFRIRET 353 346 0 0 98.0 98.0
DhSH 189 181 0 0 95.8 95.8
84 iR ET 44 43 0 0 97.7 97.7
R T 36 34 0 0 94 4 94.4
5 FH T 88 90 0 0 102.3 102.3
th ;R ET 62 63 0 0 101.6 101.6
E+=FEF 1,297 1,222 0 0 94.2 94.2
+FBAH 460 440 0 0 95.7 95.7
=R 329 304 0 0 92.4 92.4
87100 th BT 77 76 0 0 98.7 98.7
asy=1:]] 103 101 0 0 98.1 98.1
AVl 102 96 0 0 94.1 94.1
1 JECHT 27 24 0 0 88.9 88.9
5di) 116 102 0 0 87.9 87.9
7Ny AT 83 79 0 0 95.2 95.2
ODOBREAT 531 493 0 0 92.8 92.8
G Y] 422 387 0 0 91.7 91.7
yNEilil) 38 37 0 0 97.4 97.4
BB 50 48 0 0 96.0 96.0
JEN R ) 10 10 0 0 100.0 100.0
{EH4 11 11 0 0 100.0 100.0
&t 9,405 9,057 0 0 96.3 96.3




